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1. There are 120 parking places in a car park.

5

8
of the 120 parking places are used by a car.

Work out how many of the parking places are used by a car.

1. . . . . . . . . . . . . .
2. There are 600 people in a multiplex cinema.

2

3
of the 600 people watch an action film.

Work out how many of the people watch an action film.

2. . . . . . . . . . . . . .
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3. There are 350 people in a theatre.

3

10
of the 350 people travelled to the theatre by train.

Work out how many of the people travelled to the theatre by train.

3. . . . . . . . . . . . . .
4. There are 180 students in year 9 choosing a language.

5

6
of the 180 students choose Spanish.

Work out how many of the students choose Spanish.
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